HARTAY—EXEU 2 —FRAPER>

BERERERNTEOMANE [138181E]

SM3F4A1R HE

[ 7 BefE LA E 8 BfERiE] 9 : 00~16 : 05 1B®H=Y
o E B | ENE2 | ENES | ENiE4 | ENES
. Y—EXFRAICRSBCRIEEE 655 M 773 M 896 M| 1,018 M| 1,142 M
2. NBTBNIE 1 40 A
3. H—E R AHIRIEME T 18 M
4. J@EEMRE (1+2+3) x5. 9% 42 A 49 H 96 M 63 A 1A
5. FEALBHEME (1+2+3) x 1.2% 9 M 10 M 11 H 13 M 14 H
B BBEEAE (1+2+3+4+5) 164 H 890 M| 1,021 M| 1,152 M| 1,285 M
BERERERNTEOMANE [28|81E]
[ 7 BeRE LA L 8 BFfERiE] 9 - 00~16 : 05 1B®H1=Y
it EE B | ENE2 | ENES | ENiE4 | ENES
. Y—EXFRAICRSBCRIEEE 1,310 M| 1,546 M| 1,792 M| 2,036 M| 2,284 {
2. NiBTBNIE 1 80 M
3. H—E R AHIRIEINE I 36 A
4. J@EeEMRE (1+2+3) x5. 9% 84 A 98 H 12 A 126 A 142 A
5. W EBEHEME (1+2+3) x 1.2% 18 M 20 M 22 M 26 M 28 M
B RHEEESE (1+2+3+4+5) 1,528 M| 1,780 M| 2,042 H| 2,304 M| 2,570 H
BEREEERNTEOCFHAME [3EI&E]
[ 7 BefE LA E 8 BfERiE] 9 : 00~16 : 05 1B®H1=Y
o E B | ENE2 | ENES | ENiE4 | ENES
. Y—EXFRICRSE2AI8% 1,965 | 2,319 M| 2,688 M| 3,054 M| 3,426 M
2. NBTBIIE 1 120 A
3. Y — E RRHARHIRIEME I 54 M
4. J@EeEMR (1+2+3) x5. 9% 126 A 147 A 168 A 189 A 213 M
5. W EBEHEME (1+2+3) x 1.2% 21 M 30 A 33 A 39 M 42 A
B REEESE (1+2+3+4+5) 2,292 M| 2,670 M| 3,063 M| 3,456 F| 3,855 M




HARTAY—EXEU 2 —FRAPER>

BERERERNTEOMANE [138181E]

SM3F4A1R HE

[ 6 FefE Ll E 7 R3] 10 : 00~16 : 05 1B®H=Y

o E B | ENE2 | ENES | ENiE4 | ENES
. Y—EXFRAICRSBCRIEEE 581 M 686 M 7192 M 897 M| 1,003 M
2. NBTBNIE 1 40 A
3. H—E R AHIRIEME T 18 M
4. J@EEMRE (1+2+3) x5. 9% 38 M 44 H 50 M 56 H 63 M
5. FEALBHEME (1+2+3) x 1.2% 8 M 9 M 10 M 11 H 13 M
B BBEEAE (1+2+3+4+5) 685 H 197 H 910 M| 1,022 M| 1,137 H
BERERERNTEOMANE [28|81E]
[ 6 FefE Ll L 7 BFfE>RiE] 10 : 00~16 : 05 1B®H1=Y

it EE B | ENE2 | ENES | ENiE4 | ENES
. Y—EXFRAICRSBCRIEEE 1,162 M| 1,372 M| 1,584 AH| 1,794 M| 2,006 M
2. NiBTBNIE 1 80 M
3. H—E R AHIRIEINE I 36 M
4. J@EeEMRE (1+2+3) x5. 9% 16 M 88 M 100 A 12 A 126 A
5. W EBEHEME (1+2+3) x 1.2% 16 M 18 M 20 M 22 M 26 M
B RHEEESE (1+2+3+4+5) 1,370 M| 1,594 M| 1,820 H| 2,044 M| 2,274 H
BEREEERNTEOCFHAME [3EI&E]
[ 6 FefE Ll E 7 BFffRi#] 10 : 00~16 : 05 1B®H1=Y

o E B | ENE2 | ENES | ENiE4 | ENES
. Y—EXFRICRSE2AI8% 1,743 M| 2,058 M| 2,376 M| 2,691 M| 3,009 M
2. NBTBIIE 1 120 A
3. Y — E RRHARHIRIEME I 54 M
4. J@EeEMR (1+2+3) x5. 9% 114 A 132 A 150 A 168 A 189 A
5. W EBEHEME (1+2+3) x 1.2% 24 M 21 M 30 A 33 M 39 M
B REEESE (1+2+3+4+5) 2,055 M| 2,391 M| 2,730 M| 3,066 | 3,411 M




HARTAY—EXEU 2 —FRAPER>

BERERERNTEOMANE [138181E]

SM3F4A1R HE

[ 5 B¥REILLE 6 BRI R ] 18B&%1=Y
it & E BNl | ENE2 | ENES | ENE4 | ENES
1. Y—EXRFAICRIECEEEE 567 M 670 M 773 M 876 M 979 M
2. NN BIIE 1 40 H
. —ERRHAHIRIEME T 18 M
4 ABEHEME (1+2+3) x5. 9% 37 H 43 M 49 M 55 M 61 M
5. HENBHEME (1+2+3) x1.2% 8 M 9 [ 10 A 1A 12 A
B2 B1HEE & (1+2+3+4+5) 670 M 780 M 890 M| 1,000 M| 1,110 A
BEREMERNTEOHANE [28181H)
[ 5 BRI LLE 6 BEfE R ] 1B&H1=Y
& E BNl | ENE2 | ENES | ENE4 | ENES
1. Y—EXRFAICRZIECEEEE 1,134 M| 1,340 M| 1,546 M| 1,752 M| 1,958 M
2. NBNBIIE 1 80 M
3. —ER{RHAFIEIEME T 36 M
4 AEHEME (1+2+3) x5.9% 74 H 86 M 98 M 110 M 122 H
5. B ENBHEME (1+2+3) x1.2% 16 M 18 [ 20 M 22 M 24 M
B AEEE S (1+2+3+4+5) 1,340 M| 1,560 M| 1,780 M| 2,000 M| 2,220 M
BEREMERNTEOFARE [38I&E]
[ 5 BEREILLE 6 B R] 1BH1=Y
& E BENE1 | ENE2 | ENES | ENE4 | ENES
1. Y—EXFRICZRSBECEE4E 1,701 M| 2,010 M| 2,319 M| 2,628 M| 2,937 H
2. NS EIE 1 120 M
3. Y—ERRHEAHIEILME I 54 M
4 3B EME (1+2+3) x5. 9% 11 [ 129 M 147 H 165 M 183 M
5. ¥ ENBHEME (1+2+3) x1.2% 24 M 27 M 30 M 33 M 36 M
B B1BEEEE (1+2+3+4+5) 2,010 M| 2,340 M| 2,670 M| 3,000 M| 3,330 M




HARTAY—EXEU 2 —FRAPER>

BERERERNTEOMANE [138181E]

SM3F4A1R HE

[ 4 BRI LLE 5 BRG] 18B&%1=Y

it & E BNl | ENE2 | ENES | ENE4 | ENES
1. Y—EXRFAICRIECEEEE 386 M 442 M 500 M 557 M 614 M
2. NN BIIE 1 40 H
. —ERRHAHIRIEME T 18 M
4. BTEME (1+2+3) x 5. 9% 26 M 30 M 33 M 36 M 40 M
5. HENBHEME (1+2+3) x1.2% 5 M 6 M 7 H 7T H 8 M
B2 B1HEE & (1+2+3+4+5) 475 A 536 M 598 M 658 M 720 A
BEREMERNTEOHANE [28181H)
[ 4 BRI LLE 5 BRG] 1B&H1=Y

& E BNl | ENE2 | ENES | ENE4 | ENES
1. Y—EXRFAICRZIECEEEE 772 M 884 M| 1,000 M| 1,114 M| 1,228 M
2. NBNBIIE 1 80 M
3. —ER{RHAFIEIEME T 36 M
4. BTEME (1+2+3) x 5. 9% 52 M 60 M 66 M 72 M 80 M
5. B ENBHEME (1+2+3) x1.2% 10 A 12 { 14 A 14 A 16 A
B AEEE S (1+2+3+4+5) 950 M| 1,072 M| 1,196 M| 1,316 M| 1,440 H
BEREMERNTEOFARE [38I&E]
[ 4 BERELLE 5 BRG] 1BH1=Y

& E BENE1 | ENE2 | ENES | ENE4 | ENES
1. Y—EXFRICZRSBECEE4E 1,158 M| 1,326 M| 1,500 M| 1,671 M| 1,842 M
2. NS EIE 1 120 M
3. Y—ERRHEAHIEILME I 54 M
4 3B EME (1+2+3) x5. 9% 78 M 90 M 99 M 108 M 120 M
5. ¥ ENBHEME (1+2+3) x1.2% 15 [ 18 [ 21 M 21 M 24 M
B B1BEEEE (1+2+3+4+5) 1,425 M| 1,608 M| 1,794 M| 1,974 M| 2,160 M




HARTAY—EXEU 2 —FRAPER>

BERERERNTEOMANE [138181E]

SM3F4A1R HE

[ 3EFMREILLLE 4 BFfEIR i) 1B®H=Y

moEE B | ENE2 | ENES | ENiE4 | ENES
. Y—EXFRAICRSBCRIEEE 368 M 421 M 477 M 530 M 585 M
2. NBTBNIE 1 40 A
3. — E RRHAHRIEME I 18 M
4 ABEHEME (1+2+3) x5. 9% 25 H 28 H 32 H 35 H 38 M
5. FEALBHEME (1+2+3) x 1.2% o A 6 M 6 M 1 H 8 M
B BBEEAE (1+2+3+4+5) 456 M 513 M 573 M 630 A 689 M
BERERERNTEOMANE [28|81E]
[ 3EFMREILLLE 4 BFfEIR ] 1B®H1=Y

T oEE B | ENE2 | ENES | ENiE4 | ENES
. Y—EXFRAICRSBCRIEEE 736 M 842 M 954 M| 1,060 M| 1,170 H
2. NiBTBNIE 1 80 M
3. Y — E R{RHARHREME I 36 M
4 AEHEME (1+2+3) x5.9% 50 M 56 M 64 M 70 A 76 M
5. W EBEHEME (1+2+3) x 1.2% 10 M 12 H 12 H 14 H 16 M
B RHEEESE (1+2+3+4+5) 912 M| 1,026 M| 1,146 | 1,260 M| 1,378 A
BEREEERNTEOCFHAME [3EI&E]
[ 3EFMEILLLE 4 BFfEIR ] 1B®H1=Y

T oEE B | ENE2 | ENES | ENiE4 | ENES
. Y—EXFAICRSBCRIEEE 1,104 M| 1,263 M| 1,431 M| 1,590 M| 1,755 H
2. NBTBIIE 1 120 A
3. Y — E RRHARHIRIEME I 54 M
4. J@EeEMR (1+2+3) x5. 9% 15 M 84 A 96 M 105 A 114 A
5. W EBEHEME (1+2+3) x 1.2% 15 M 18 M 18 M 21 [ 24 [
B REEESE (1+2+3+4+5) 1,368 M| 1,539 M| 1,719 M| 1,890 M| 2,067 H




HARTAY—EXEU 2 —FRAPER>

BERERERNTEOMANE [138181E]

SM3F4A1R HE

[ 2 BRI LLE 3 BRI R ] 18B&%1=Y

it & E BNl | ENE2 | ENES | ENE4 | ENES
1. Y—EXRFAICRIECEEEE 270 M 309 M 350 M 390 M 430 M
2. NN BIIE 1 40 H
. —ERRHAHIRIEME T 18 M
4. BTEME (1+2+3) x 5. 9% 19 [ 22 M 24 [ 26 M 29 M
5. HENBHEME (1+2+3) x1.2% 4 H 4 H 5 M 5 M 6 M
B2 B1HEE & (1+2+3+4+5) 351 A 393 A 437 H 479 H 523 M
BEREMERNTEOHANE [28181H)
[ 2 BRI LLE 3 BRI R ] 1B&H1=Y

& E BNl | ENE2 | ENES | ENE4 | ENES
1. Y—EXRFAICRZIECEEEE 540 M 618 M 700 780 M 860 M
2. NBNBIIE 1 80 M
3. —ER{RHAFIEIEME T 36 M
4. BTEME (1+2+3) x 5. 9% 38 M 44 M 48 M 52 M 58 M
5. B ENBHEME (1+2+3) x1.2% 8 M 8 M 10 A 10 A 12 H
B AEEE S (1+2+3+4+5) 702 H 786 M 874 H 958 M| 1,046 M
BEREMERNTEOFARE [38I&E]
[ 2 BRI LLE 3 B R] 1BH1=Y

& E BENE1 | ENE2 | ENES | ENE4 | ENES
1. Y—EXFRICZRSBECEE4E 810 M 927 M| 1,050 M| 1,170 M| 1,290 M
2. NS EIE 1 120 M
3. Y—ERRHEAHIEILME I 54 M
4 3B EME (1+2+3) x5. 9% 57 M 66 M 72 M 78 M 87 M
5. ¥ ENBHEME (1+2+3) x1.2% 12 A 12 H 15 [ 15 [ 18 M
B B1BEEEE (1+2+3+4+5) 1,053 @[ 1,179 M| 1,311 M| 1,437 M| 1,569 M




HARTAY—EXEU 2 —FRAPER>

LERTEH—EX]

BREG—EXOFANE [18/&18]
10:00~16:05 A%

SM3F4A1R HE

T E E EXE1 - BRFREY—EX] |EXE2 - BFEY—ERD
. 9—EXFRAICERSECEE% 1,672 H 3,428 M
2. Y—ERREAFIRIEME T 2 A 144 H
3. ABHEME (1+2+3) x5.9% 103 M 211 H
4 FENBHEME (1+2+3) x1.2% 21 [ 43 M
B2 R (1+2+3+4) 1,868 H 3,826 M

BRI —EXOFANE [2E&18]

10 : 00~16 : 05 A%

i #E EXE - BREY—ER ] |EXE2 - BHEY—ERT
1. H—EXFIAICRSECEIEEE 3,344 M 6,856 M
2. h—ERRHEAEFIRIEMED 144 M 288 M
3. LB EME (1+2+3) x5. 9% 206 422 M
4 HENBHEME (1+2+3) x1.2% 42 M 86 M
BCAIEEESE (1+2+3+4) 3,736 M 7,652 H

BREG—EXOFANE [3E&IE]

10 : 00~16 : 05 A%

T & E EXE - BRAEY—ER] |EXE2 - BREY—EXT
. Y—EXFIRAICERDIECEIEE 5016 M 10,284 M
2. 9—ERRMAGHERIEINE T 216 M 432 H
3. M@ EME (1+2+3) x 5. 9% 309 M 633 M
4 FFEBEHEME (1+2+3) x 1.2% 63 M 129 H
B REEESE (1+2+3+4) 5,604 M 11,478 M




